IPv4

EDNS0:4096 EDNS0:1232 EDNS0:512

IPv6

EDNS0:4096 EDNS0:1232 EDNS0:512

Dual-Stack

EDNS0:4096 EDNS0:1232 EDNS0:512

dnssec-v6-UDP _frag_too_big
IPv4

IPv6 Dual-Stack

EDNS0:512 EDNSP:1232 EDNSP:4096  EDNS0:512 EDNSP:1232 EDNSP:4096  EDNS0:512 EDNSP:1232 EDNS(:4096
DAL, | 0% | 44,97, NN | %72 2 27 NNNWN
VA AR 2 AV A ) NN 727/ /4 NS\NNN
YOS | LY7o | 2777 WNNN | 7272 2 7z NANN
VAR /AN /2 NN\ | 27~ 7 NNNWN
LA00 D007 | 1907 NN | ZZ 72 27 AN
IR/ AV Y NN |72 7 77 AWWMNN
/AW Y A Y A NWNNN | 272 2 24 NN
V2 AN Y/ AV NN\ | 727 7% 77 NN
/AN /AN 7Y NN\ | Z7z 72 77 WNNWN
Y1 //Af/// v/ NN | 72 7| 7z NN\
AL | SIS 1L NN | 272 2 27 NNNN
VYA Y/ /AW 27 NN\ | Z7 7| 77 NN
]|

]

NENRANNEENANNNEINNINRN NNEN l&_&l [ | ]

AN [ ANAN | ONNW SNEN | ENNE (BN

RN INANNNEENNANNINEINTINANNN W\N\NEN lNNl [ [ ]
ANNN NI NN NNNEIANNNNRN] NNEN ANNN | [ ]|
LA | G0 | 4477 N|\7zZ7z 7 727 AN
VA /AR Y 2/ AV Y i\ /7N \ai‘ﬁﬁ
VAR /AW \N | 7 4 77 NN
. u RENN
YL L Y N |7z 7 7w NAWNNN
LLIL | DAL 1077 N |27z 2 24 NNWNAN
| [ ][] ]

ONNN | NNSN  XNNN | EEEEn | ] HIXNEN EINNE =
NN | ONNWN NANN l l l ] sm N lv&l H_EN

ANNNRNEIN ANANNNEENANN N 2| NEN ANAN ||

NONN | NNQN  NXNNN | EEEE | | H | NNEX | EXX\H ==
7T T 1T TT 17T TTTT T TTT T T 71T TT7T 17T TTTT
A amag mamg  a—amg - T ——amg g oo
an N AN an N AN Q Q anN N AN an N
8885 8885 38835 3335 5 5 338385 3835 33835
TSI  TIN TN TSI o ] TSI  TIN  IIN
[Se] Q © [Se] Q © [05) [e5] Qo ® Qo © [Se]
S35 338 335 538 S S 535 335 335
[ ) [ [ cZs ) ) [ ) cZs [
S35 823 o3 83y e o3 s3I oFg o

o o

o= o= o= o= = = o= o= o=
= = = = = = 3 = 3
c c c c c c c c c
o o o o o o ) RS o

500
1280 (PMTUD
1280 éno PMTUD
Path 1280 (no PMTUD)

1500

1280 PMTUD

1280 (n

Path1280 noP TUD)

1500

1280 PMTUD

1280 (n

Path1280 noP TUD)

1500

1280 PMTUD

1280 (n M)
Path1280 noP TUD)

1500
1280 PMTUD

1280 (no P

Path 1280 noP TUD)

1500
1280 (PMTUD)
1280 (no PMTUD
Path 1280 (no PMTUD)

1500

1280 (PMTUD

1280 (no PMTUD)
Path 1280 (no PMTUD)

1500

1280 (PMTUD

1280 (no PMTUD
Path 1280 (no PMTUD)

1280 (no PMT

1280 EPMTUDLD
Path 1280 (no PMTUD)

100; X >Y
50

10
5

-100; X <Y

lOg( | Ponssets (X) — Ponssets (Y) |)

fv)



